PHYS 101: General Physics1  KOC UNIVERSITY Fall Semester 2013
College of Sciences
Section 4 Quiz 9 28 November 2013

Closed book. No calculators are to be used for this quiz.
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Name: Student ID: Signature:
Find how far above the Earth (in the number of times the radius of the Earth) is a

satellite in geosynchronous motion around the Earth - i.e., the satellite, as viewed from
Earth, seems to remain stationary at the same-point in the sky.
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Assume the Earth’s mass is My =6x10*'kg and radius is R, =6000km, and
consider a 3000kg satellite going around Earth in an orbit of radius r = 8x R, . What is
the period of the orbit?
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Assume the Earth’s mass is Mg = 6x1024kg and radius is Ry =6000km, and
consider a 3000kg satellite going around Earth in an orbit of radius r = 8x R . That far
from the Earth, how large is the acceleration due to gravity?
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Mercury is much less massive than Earth and closer to the Sun than Earth and orbits the
Sun in only 88 days. Determine whether the following statement is true or false and
explain your reasoning: If the Earth moved on the same orbit as Mercury does, it would
have a period of 88 days.
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Assume the Earth’s mass is My = 6x10% kg and radius is R, =6000km, and
consider a 3000kg satellite going around Earth in an orbit of radius r = 8x R, . How fast
must the satellite be moving to hold the orbit?
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